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of (X, Yo of (X, Yo
Flodo)_  A0N) 1 fiy) MGt v0)
( df| ) = (5 - 42)dx + (V5 - 242)dy )
13.1.2
()
X = X(t)
C R y=y(t) (a<t<p)
z=1(1)
C P D V() =r'(ty) = (X'(t,), Y'(t), 2'(t))'
X = Xo+ X'(to)(t —to)
cC P X =Y+ Y (to)(t —to)
Z=70+2'(to)(t—to)
C
X (to)(X = xo) + Y'(ta)(Y = Yo) + Z'(to)(2 — 20) =0
X = acost
. a a e
3 y=asint (a>0,c>0), M(ﬁ'ﬁ'T)
Z==cCt
x = a/+/2 —a/~/2t,
y= a/\/i + a/\/it,
z=(z/4)+ct,
—(a/ﬁ)(x—a/ﬁ)+(a/\/§)(y—a/\/§)+c(z—(7z/4)c) =0.
)
Q)
z=1(xy); : F(x,y,z)=0
®)
S Po(Xano) : Zo:f(xo'yo)
of (X, Yo ) of (.Y ) _
T(X_Xo)"' oy (y_yO)_(Z_Zo)—O
X=Xo Y=Y, _Z-1,
of (. ¥0) (%0 ¥,) -1
OX oy
S z=f(xy) P, Y) S p(X.Yo)
z
D) S
S F(x,y,2)=0
G oF(x,y,z) oOF(x,y,z) oF(xy,z)
B ox oy o1z
S (XO’ yO,ZO)
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aF(XO’yO’ZO)(X_XO)+M(y_yo)_f_w(z—zo):()

OX oy 0z
. X—Xp _ Y=Y _ L—-1,
aF(XO'yO’ZO) aF(XO’yO’ZO) aF(XO’yO’ZO)
OX oy oz
3X—-2y—-z2=5
4 S:2x>—2y*+2z=1 L:{ y
X+y+z=0
2x—-8y =5
=
2x2 —2y* +2z=1
5 Siix2+ Y+ 22 =R? S, x2+Yy=a’7’ (orthogonal).
€))
F(x,y,2)=0
L (x.y.2) . vV =gradF(M,)x gradG(M,)
G(x,y,2)=0
L Mo (Xo» Yo Zo)
2 2 2_6—
6 Xy -6=0 1y 12)
Z-x"-y°=0
x=1+10t
y=1-10t.
z2=2
13.2
13.2.1 Taylor
° Taylor

=f(xy),  M(x.¥s)  M(xy)=M(x, +Ax,y, +4y),

M M : {(xj {x =X, +t(X —X,)
’ y

y :y0+t(x _Xo)
M M D(t) == f(x, +tAX, Y, +tAy) (0<t<1),

0

,03t31}},

D(0)= f(x,Yo) »PL)=fx, +Ax Y, +4y)=f(xy),
f (% +AX, Y, +Ay) =

f M (xo,Y,) U 1 n+1 M(X,y)

k
"1 0
(x,y :Z—I(AX&JrAy@yj f (X0 Yo )+

o K
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l a 8 n+l
+——| AXx—+Ay— | f(x, +6AX,y, +OAY), (0< O <1).
(n+1)!( ~ yayj (% Yo +6AY), ( )
f(x,y) Mo(xo,yo) n  Taylor . n=0
Taylor
.I:(X1y)_f(XO’yO):81:()(0+9(X_X0)1y0+9(y_y0))(X_XOJ
a(va) y_yO
n=1 Taylor
of (Xo, Vo) [AX) 1 AX
f(x,y) = f(x,, — 0707 =(Ax Ay)H(M ,
(9) = F0 Vo) + =03 (Ay +=(Ax ay)H(M, Ay
ot o°f
2
Me:(xo+9Axvyo+9Ay)’ H(Me): 82)( a)2(8)/
o-f o-f
2
OXY Y™ iy,
n=2 Taylor
of (X, Y, ) [ AX
f Xl :f X ) +¢ +
(X, y) = f (X0, Yo) 30%,y) (Ay
82f(xo’yo) 82f(xo’yo)
1 ox’ O X0y (AXJ )
+=(Ax Ay +0\p")-
2( 82f(x0,y0) 62f(XO’YO) Ay ( )
O X0y oy’
7 f(x,y)=x*(x-y-2) (1,-1) Lagrange Taylor
1
f(x,y)=3(x-1)-(y+1) +5[(6§—277)(x—1)2 —4&(x-1(y +1)]
13.2.2
)
~ [Min ()
T lst. XeQ
°
8 m  P(a,b,c), i=1---,m, P(x,y,z2)
Min £(%)= Y (x=x P +(y- v, +(z-2))
i=1
9 F(x,y,2)=0 P, (X Yo, Zo) P(x,y,z2)
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. Min £ (R)=0x— 5+ (5~ yo) + (2 2
st. F(xy,z)=0
F(x,y,z)=0
10 ey =e A P(xy.2)
p Min (%) =(x =, )" +(y ~ ¥, +(z2-2,)
st. F(x,y,2)=0, G(x,y,2)=0
13.2.3
)
°
°
R N T
gradf(io):(af(x‘)) af(XO)J -0.
OX, oX,
)
f:R" >R M,eR" um,)
M, gradf (M ) =0
1 H (M) My f(X)
2 H (M) My f(X)
3 H (M) My T(X)
H(M;) f(X) M,
4. AC-B’=0 FOay) M (xo Yo) F(x.y)
MO(Xo!yo)
11 fx,y)=2x"+y' =2x2-2y°
A _gxd—ax=0
i
Z =4y’ —4y=0
5
AB,C
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(ey) (00 0D ©O-1) (=0 (=1 (=1 (=0 (=1 (=1
oy EEES BT RY RY N AN RN
A 4 4 -4 8 8 8 8 8
B, 4 8 8 4 8 8 4 8 8
Ci 0 0 0 0 0 0 0 0 0
AC,—B? -16 -32 -32  -32 64 64 32 64 64

f
(X1 ¥s), (X6 Ye) (Xg, V) (Xg, Vo)
12 y X -y:ax+b a,b
y X (X1, Y)s (X1 Y2)seees (Xns Y,)
a,b.
NExY - (EEY)  CYIEx () xiY)
( a= i=1 - |:1n i=1 , b= i=1 |:1n |:r§ i=1 )
nZXiz_(ZXi)2 nZXiz_(ZXi)2
i=1 i=1 i=1 i=1
13.2.4
Min f(x, )
st. F(xy)=0"
© L(x,y,4)=f(xy)+AF(x,y),
Min f(x,y,z)
s.t. F(xy,2)=0;G(x,y,z)=0"
L(x,y,z, 4, 1)= f(x,y,2)+ AF(x,y,2)+ 2 G(x,y,2)
13 m P(a;,b,c), i=1---,m, P(x,y,2)
Min £(x)= 3" ((x=x,J +(y=y,} +(z-2,)
i=1
M %.2) 53 (x—x,)= 0 1oy
OX ) ns i “
ox(xyz) & 1L y LN
=2) (y-v;)=0 P=|— i | = i
y by 02| T Y
axy,z) & i, '
:2 — :O I
0z ;(y yl) [ Ry
14 F(X,y,Z)zo Po(xo’yo’zo) P(x,y,z)

=r+AF(x,y,2)

www.tsinghuatutor.com -6-

1101

62781785



2005 1006 1101

62781785

r=\/(x—x0)2+(y—y0)2+(z—zo)2 -

{E+;t grad F(x,y,2)=0 {FO(POP): — grad F(x,y,2)

r
F(x,y,z)=0 F(P)=0
F(x,y,2)=0
15 Po(Xo» Yoo
rn Ty Ak
PO
Min £ (%) =(x =, )" +(y =y, +(z2-2,)
st. F(x,y,2)=0, G(xy,z)=0
L(x,y,z,4)=r+AF(x,y,2)+ 1G(x,y,2)
r=\/(x—x0)2+(y—y0)2+(z—zo)2 -
€+/1 grad F(x,y,z)+ u grad G(x,y,z)=0.
13.3
15 S +x-y+z=3 @0,2 B
A y B y
C y D A B C
16 f FX=2 Y=y
z-Cc z—c
2 2 _
17 3X°+2y°-2z-1=0, (1’1’2)
X +y?+2°-4y-27+2=0
( : (x=-)-4(y-1)-5(z-2)=0 X—4y-52+13=0 )

3X-2y—-z=5
18 L:{ y

2x2—2y2+22:E
X+y+z=0 8

( 6(x—3/2)+(y+1/4)+2(z+15/8)=0 )

2 2 2
X VA
19 L=t

QD
QD
(@)

1

( -
vJa?+b? +c?

20 f(xy,2),9(x,y,2) » M (X0, ¥0,20)
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{r;(i:‘(,(f;"a:)):éx,y,z) (X, Yo:120) =2 - 7,7,
S,: f(x,y,2)=4a,S,:9(x,y,2) =0 M (X, Yo, 26) PPN
A rm x ) B.z, =,

Cnrn,nm, . D. 7, 7,

20 FO,y)  (Xo:Yo)

OF(x0¥o) _ o FF(%Ya) , 2°F(XoYo)

<0.y=y(x) F(xy)=0

J X T dy T ox?
A
(A)y=y(x) X - (BYy=y(¥) X
(CHy=y(x) X - (D) y=y(x) X
21 f(x,y,2) x—2y—-2z=10
of
f X1 |Z f M M —:—2
(X,y,2) (My) 0 o
f(lelZ)zf(MO) MO C
A(1-2-2)  B.(-211) C.(~2,4,4) D.(-12,2)
0
22 f(xy)=x'+y*—2x2—2y% +4xy f(x,y) ( -8.)
-8
23 2p
( x=pl2,y=3pl/4d)
24 XY,z 0 u=Inx+2Iny+3Inz X2 +y% +22 = 6r?
) 3 a+b+c)’
a,b,c ab“c’ <108
25 2(x,y) D D ,z(x,y) D
D a @—f(z) f f(0)=0

2(x,y)=0((x,y) € D).
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